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g2l 2 26
18- > = 18- 9 + 18- i Divide out common factors in the multiplications.
1 1 1
63 =2x + 52 Complete the multiplications. The fractions are now cleared
63 =92 =2x% +52 —59 Subtract 52 from both sides to get constants on the left
11 = 2x Simplify.
Al sy
7 = —2— Divide both sides by 2.
11
7 =X Simplify.

‘The formula indicates that if the high- 8

- umor group averages a level of i 2_ :

¢ depression of 3.5 in response 10 a  jopression:35 2

negative life event, the intensity of that L

cvent is &, or 5.5. This is illustrated on :
he line graph for the high-humor Low Intensity of negative

sroup in Figure 1.14. : lifeovent: 5.5

Figure 1.14
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- Check Point 8 Use the model for the low-humor group given in Example 8 t
_ solve this problem. If the low-humor group averages a level of depression of 10 i
~ response to a negative life event, what is the intensity of that event? How is the

solution shown on the blue line graph in Figure 1.13? .

Exercise Set 1.2

Practice Exercises xS -0 il Lol %
s 8 4 % 6 3
In Exercises 1-16, solve and check each linear equation.
i X =3 x=2 x k)
E=5=7 2. 6x—3=63 2. 52+ e i e
1x — (6x — 5) = 40 4. 5x — (2x — 10) = 35 il g 35 Y3 )
5.2x-7=6+x 6. 3x +5=2x+13 P as Vg gt
7. 7x +4=x+ 16 8 13x +14=12x -5 s <
i : Exercises 31-50 contain rational equations with variables ii
9.3(x=2) +7=2(x+5) denominators. For each equation, a. Write the value or values o

M2 (5 k) 3= x =3y ) the variable that make a denominator zero. These are the restrictio.
1L.3x-4)-4(x-3)=x+3-(x—2) on the variable. b. Keeping the restrictions in mind, solve th

12.2-(Ict5) =183 fquanon.

BF16=3x-1)-(x-7) =3
x
14:5x— (20 2) = xit(3x = 5) J L g
15.25-[2+5y - 3(y +2)] = Bord
—3(2y=3) - [Bly-1) =3y +3]
16. 45 — [4 -2y — 4(y + T)] = geowe L 1]
—4(1 +3y) — [4 = 3(y +2) — 2(2y - 5)] 3% & 6r.. 3
Exercises 17-30 contain linear equations with constants in 37 x—2 +1= x+1
denominators. Solve each equation. 2x %
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Exercises 51-36, find all values of x satisfying the given
nditions.

31 =70B8x —2).+5,=602x — 1) + 24,and y; = y,.

S Xi—D

e L ,andy; — = 1.
1 = 2
4 o 3 ,andy; — y, = —4.
5 g e
g+ yi3 Pt
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e 2x — 1 =5 f5e S
CEETCITRoRETY L e b

(3 e )
2i3x — (4x — 6)] — 5(x —6)
x+6 5 2
Bx—12 x—-4 3

ercises 61-68, determine whether each equation is an identity,
ditional equation, or an inconsistent equation.

Hx —7) = 4x - 28 62. 4(x —7) = 4x + 28
‘ Tx

X+3=2y-3 Shir =7
ix,:+5x=8x 66. 8x + 2x = 9x
2 6 3 x
& 5 = =5
=3 : s X3 ¥—3

iscussed in this section. Solve each equation. Then state
L the equation is an identity, a conditional equation, or an
nt equation.
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2 X 2%
71. =3+ s =
o 2 X —2 72x+3+2 T3
T38x = (Bx+2) + 10:=3x
74. 2(x +2) +2x = 4(x + 1)
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In Exercises 81-84, use the E} screen to write the equation being
solved. Then use the table to solve the equation.
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